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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. - V - Examination — June- 2011
Subject code:351905
Subject Name: Estimating, Costing & Contracting
Date:27/06/2011 Time: 02:30 pm - 05:00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic

Q.1 (@) Explain need, scope and importance of estimating in an industry. 07
(b) Define costing. State the objectives of costing in an industry. 07
Q.2 (@) Explain the following terms with examples: 07

(a) Factory overheads
(b) Administrative overheads
(c) Direct expenses
(d) Indirect expenses

(b) State the various methods of overheads allocation with their 07
applications.

OR

(b) The catalogue price of an electric motor is Rs. 15,000/-. The 07
discount given to distributor is 10%. The selling overhead is 20% of
factory cost. The direct material cost, direct labour cost and factory
overheads are in the ratio of 1:4:2. If the direct material cost is Rs.
1500/-, what will be the profit on each motor?

Q.3 (@) Define depreciation. Write different methods of calculating 07
depreciation and explain any one method in details.
(b) The expenses details of a company are as below. Find out total 07
monthly expenses and overhead by man hour rate method.
(a) Material expense: Rs. 3,00,000
(b) Normal rate of wages: Rs. 30 per hour
(c) Working hour for the day: 8 hour per day
(d) Working days: 25 days
(e) Overhead expenses: Rs. 1,00,000
(f) Rate of wages for over time: Rs. 50/hour
(g) No. of workers: 50
(h) Total overtime: 500 hours
OR
Q.3 (@) Explain various types of losses occurs during the forging process. 07
(b) Estimate the actual cost for preparing an open tank of 07
1000mmx1000mmx*1000mm by gas welding. The size of sheet used
is 3 mm. Welding is required to be done in inner side only. Use
following data:
(a) Welding speed: 12 min/m of welding
(b) Oxygen consumption: 0.12 m3/m of welding
(c) Acetylene consumption: 0.07 m3/m of welding
(d) Length of filler rod required: 1.5 m/m of welding
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(e) Cost of oxygen: Rs. 60/m3

(f) Cost of acetylene : Rs. 400/m3

(g) Cost of filler rod : Rs. 100/Kg

(h) Diameter of filler rod: 2.25 mm

(1) Density of filler rod: 9 gm/cm3

(j) Fatigue allowance: 5% of welding time
(k) Labour charges: Rs. 30/m of welding

Define the following terms;
(a) Set-up time
(b) Handling time
(c) Machining time
(d) Feed
(e) Depth of cut
(f) Over travel
(g) Approach length
Derive the formula for estimating time for turning operation in lathe
machine.
OR
A 30%08 cm C.I. surface is to be faced on a milling machine with a
cutter having 10 cm diameter and 16 teeth. If the cutting speed and
feed are 5S0m/min and 5 cm/min respectively, determine the milling
time, R.P.M. of cutter and feed per tooth.
Explain the different types of allowances given on a pattern.

State the importance of break even analysis in an industry. Also state
the effect of increase in selling price/unit on B.E.P.
A company has fixed cost Rs. 50,000. Selling price per product is
Rs. 20 and variable cost is Rs. 10/product. Find out B.E.P. of this
company by graphical method. Find new B.E.P. if selling price is
increase by 10%.

OR
List modern tools and techniques of cost reduction. Explain any one
in detail.
Explain the following:
(a) Enlist various types of budgets. Explain any one.
(b) State the documents essential for engineering contract & explain
tender form.
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